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Subtract More than 4 Digits

Subfract More than 4 Digits

9a. Calculate the missing answer.

89,006 - 71,592 =

b2

9b. Calculate the missing answer.

86,001 - 59,357 =

hd

10a. True or false?

9 ten thousands and 70 tens
subtract fifty-nine thousand, 20 fens
and 8 ones equals forly thousand,
four hundred and ninety-two

¥

10b. True or false?

4ten thousands and 7 ones
subtract 2 ten thousands, 48
hundreds and 9 ones equals

nineteen thousand, five hundred

& and eight

11a. Use <, > or = symbols fo complete.
the subtraction.

7 ten thousands and 18 ones
subfract forty-four thousand, 62
tens and 1 one equals...

25,396

70,018 - 44,621
¥

11b. Use <, > or = symbols fo complete.
the subtraction.

5,000 tens and eight subtract 19
thousands, 99 tens and 9 ones
equals...

30,090

50,008 - 19,999
¢

12a. Circle the correct answer for the
sublraction.

40,709 - 39,784 =
A.92tens and 6 ones

B. nine hundred and twenty-five
ones

C. nine hundred and twenty-five

% tens

12b. Circle the correct answer for the
sublraction.

98,042 - 83,009 =
A. 15 thousands and 1 one

B. 150 hundreds, 33 tens and
3ones

C. 15 thousands and 33 ones

b
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Subtract More than 4 Digits

Subiract More than 4 Digits

7a. Find the missing digits In the
subfraction.

7b. Find the missing digits n the
subtraction.

u,m‘— 17,984 |=|i#,273

12,752

‘W.Auz

- 17,*:_""

e .

b4

8a. Use the digit cards to complete the
sublraction.

8b. Use the digit cards to complefe the
sublraction.

44,248

12,404

41,4*#’

81,300 |- |28, 685 | - (4598

e .

e .

9a. Tim has used column method to

answer a subfraction and has written it
out below.

8 fen thousands, 200 tens and 9

ones subtract 37 thousands, 98 tens

and 3 ones equals 42 thousands,
220tens and 7 ones.

Is he correct? Explain why.

9b. Ava has used column method o

answer a sublraction and has written it
out below.

500 hundreds, 8 tens and 0 ones
subtract 2 ten thousands, 9

thousands and 826 ones equals 200

hundreds, 26 tens and 3 ones.

Is she cormect? Explain why.
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10a. False. The correct answer is 31,492.
11a. The answer is 25,397, 50 70,018 -
44,621 > 25,396,

12a. 8. nine hundred and twenty-five ones

Greater Depth
9. 26,644
10b. False. The comect answer is 15,198.

11b. The answer is 30,009, 50 50,008 -
19,999 < 30,090.

12b. C. 15 thousands and 33 ones




image4.png
9a. Tim is incorrect. He has subracted the
ones, hundreds and thousands columns
incorrectly. The correct answer should be
44,026,

Gregter Depth

7b.30,402 - 17,650 = 12,752

8b.71,300 - 28,602 = 42,498

9b. Ava is incorrect. She has sublracted
the ones and fens columns incorrectly.
The correct answer should be 20,254.
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